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1. 3548 F 51 E #4699 1% A box-and-whisker plot 23 - (10 %)
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(Specifically, perform a two-sided test where the significance
level is set at 5%)(10 %)

(Note : The upper 5 percentile of a chi-square distribution with
I degree of freedom is 3.84)
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4. TERAFDHARERIERE GHERTHEFAIFHIE - it
B 7% 3% 3 75 self-paring design -

R A RRR B O o

Subjects right eye {X) lefteye (Y) 7=X-Y

| .75 2.00 -0.25
2 -4.00 -4.00 0

3 -1.25 -1.00 -0.25
4 1.00 1.00 0

5 -1.00 -1.00 0

6 -0.75 0.25 -1.06)
7 -2.25 -2.25 0

8 0.25 .25 0

9 0 0.50 -0.50
10 -1.00 -1.25 0.25
18| 0.50 -1.75 2.25
12 -8.50 -5.00 -3.50
13 0.50 0.50 0
14 -5.25 -4.75 -0.50
15 -2.25 -2.50 0.25
16 -6.50 625 -0.25
17 1.75 1.75 0

Mean -0.206
SD 1.073

(A) 3% A paired student-¢ test & & 8o £ BRI &P 4 & 548
Bl ? ( Specifically, perform a two-sided test where the
significance level is set at 5 %)(10 % )(The upper 2.5
percentile for ¢ distribution with 16 df is 2.120)

(B) £FA(A) - 12 &AM Wilcoxon signed rank test - (10 % )(The
acceptance region i1s 8-47 at significance level
0.05)(Reminder: The observations with a value of 0 do not
count in conducting the test)
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4 ~ {738 R Me @ (response set) ? 4T A RCIEREH » Lo TR
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